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1. Complete the following statements by filling in the blanks with logical answers that relate to what we have
learned in the review unit of this course. (13)

(a) Many students find mathematics difficult because they see it as a massive collection of complicated,
incomprehensible rules that are used to manipulate myriad meaningless symbols. Gladly, there are simple
strategies that students can apply that will help them develop a mindset that makes mathematics much easier
to understand. Mr. Nolfi described three of these strategies in Unit 0. List the three strategies in the space
provided below.

() Focus on :m‘zmﬂf rdeas vecther than blhdl;g mgmay_';zdjbﬁl-s /

iy View mathemetical relationships From deffeveit mppdiws. /
(iii) :Pon,‘{' JGS‘[' Scratch the sur;ace,! Laarn i a‘eP-H,,’ /

As examples of one of these strategiesyr. Nolfi pointed out that for equations of lines, we only need to
remember =S

, for th%m}omt of a line
segment, we only need to remember 'l‘ﬁe gvfraqe O‘F a and b ns jfor the length
of a line segment, we only need to remember 'H( %ﬂqdf ean "'HIQOYCWI .

(b) To maximize my Iearnin‘g},otentlal in mathematics, | must learn to distinguish between
CXx.ercises and 'Df 0 b(ems \/ so that I can devote more time to
}n , which is the ultimate goal of studying mathematics. In addition, |

must become very well acquainted with George Polya’s four steps of problem solving, which are as follows:

1._Understand the prab[em\/
2._Devise_a Stazl:egv /
3. Carry out the sh(a*légv v
4. Check the solution~’

Boy that was so easy!
Finally, the whole world
will realize what a great
genius | truly am!

2. When Miley C. was asked to factor the expression x* +4x -5, she wrote the ?"
“solution” shown below. Is it correct? Explaln (2)

' [\(m'cormci’ &8 .
X* +4x—5=(x-1)(x+5) \I_J: S,\e had g‘f‘DPPPd at 'H'ILC \ A\ g8

ﬁ;ifxolx_f:? ste ) she would have ived
fullearkS fﬁ
These. s-fePs would be fﬂ'ﬁfmed to l/

SoLvE the EVa'bon x%Y4x-5=0.




3. Feeling that she was on a roll, Miley decided to tackle another question. 10

Here is the “solution” that she offered. Is Miley’s “solution” correct? If not, sl
provide a correct solution along with a graph that clearly shows the roots of sl
the equation. (6 ! i

q © Correct Solution !

2

5x2 —10x—120 =0 2_ - =0  iobheoroo
g'x, 10x - 130 10 B -6 2.4 8 10

L 5(x*-2x-24)=0 /
- S(x-0(x4)=0 S :

, x=-6=0 ov xt4=0 A
L ox= } or X = L‘l'/ L
4. Solve. Show all steps. s
(a) Solve the following linear equation. (5) (b) Solve the following quadratic equation. (7)

(ﬁ)(_ﬁ)x+2):E_Ex !_‘1) \/ (32-5)(z+4) =—32(22 -5)
|\ 7 14" |7 , 2

. 32°+72-0 = -ngl'lgz v

L =b(x+) =-56 -1l g2 g0 =0

C=6x-13=75611x 9718, +ipz RO =
Ex = -44 / " 92(2-2) +10(z-2) =

o
e

°r
_ 2o @2-D(qz+1p) =0
x = —%’i \/ (:Q'O urqz.+lD-O‘/

-lO

s zZ= 9\%\" A

Q) =-1380

-13+10 =—8, -18(10)=-180

(c) Sketch a graph that shows how the equation in 4(a)  (d) Sketch a graph that shows how the equation in

could be solved graphically. (2) 4(b) could be solv graphically.
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5. State an equation of the graph shown at the right. Justify your %rlswer. (4) o

Equation n vertex Form y =alx-h) +K
Th& Uer'{-e,x O‘F thQ, Sl‘vey\ 81‘&?)« is (Lbcl).
Therefore, the eguation of fhe qraph must
'l'nke the JMm \7-.-.- al c\:-‘ﬂﬂ—q‘?ﬂ

Silnce (3,6) lies on the gmph
gj:a(ﬁ-'-t)QfV -

) _ I/
-.=3=4 : 2
.. an equation of the graplq 1S )/=-5(’)€"‘ﬂ +4

i
B
4k
2

A+

6. McDonald’s Canada® has hired Sukhman J. (aka M. Bouche de Moteur) to design a box for their new ultra-
sized burger. The box must have a volume of 8000 cm?, a depth of 20 cm and it must be manufactured from a
square sheet of cardboard. What should be the dimensions of the square sheet of cardboard? (6)

Let X nzpresen'f“ the levyﬂ\ and wid t

h (in om of the Square sheel-o F cardboard

and let V represents the volume oF the box (inem?).
Thea V= ﬂwh =[x~ Qd)(x-l-}())(go) = 20(%—11-0)2/

Since the volume must be. 2000,
20(x- #0)" =800D

(’X""H})n = %00 v 'Du'mehﬂ'dmr af- base Fia Box
would be =20 x -20,
whl‘r}\ ¥} mPaSs:He .

L x-4p =0 /,/
L x =60 S 2RO,

77|e, Square sheel o C—""dbml“d should be 60 cm b/ GOC'M/



7. A running track consists of a rectangle with a semicircle at each X
, find the dimensions that <
an . (10)

g +3mwr = 400
 Q(x+1r) =400 \/\/
X+ =200

Maxl'm;ze, aréo d‘)c reci'ahjular "E\rj‘on
lLe. maxmize A= x(ar) = drx \-/

Sinee XMT7 = 300)\/

x = 00 -V app oximate
ﬂ'l eFEfoe) / Mas::;;m
A: dr (300—7}'7‘ ) 1:7000 31831, 6366.2)

This i< a tzuadm'ht function
that opens dawnward‘, which

means that the max area 1§
found at the vertex .

The zeros of A are O and 80 . /|
Thus ) t-}w. r-Co-OralMa'I'e of' -fhe UC!'('EK [
1S 3%?- = %9 ) \/ (.. Qr= 31270) 510 16 20 25 30 35 40 45 50 55 60 65 70
Lo x=K00-wr S x aao/
= 200 - 100 = 100 /
The dimensions of tha r&c:bhaular régi0m should be 100 x&%?m.

FUN PUZZLE: ATTEMPT ONLY IF YOU HAVE COMPLETED ALL THE OTHER QUESTIONS!
An eccentric old king wants to give his throne to one of his two sons. He decides that a horse race will be run and the son who owns the
slower horse will become king. The sons, each fearing that the other will cheat by having his horse run less fast than it is capable, ask the

court fool for his advice. With only two words, the fool tells them how to make sie that the race will be fair. What are the two words?
Switch horses | W
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